
ECS 332: In-Class Exercise # _ 

 

 

 

 

 

1. Consider the impulse train g t  shown on the left in Figure 1. Plot its Fourier transform G f  from 

2f  to 2f . Explanation is not required for this question. 
 
 

 
Figure 1 

  
 
2. r(t) shown in Figure 2.  

 
Its value periodically alternates between A and 0 with period T0. Suppose A = 2. 

 
Figure 2 

The Fourier series expansion of r t  is given by 02j kf t
k

k

c e  where 0 01/f T . 

 
a. Suppose the duty cycle is 50%. Find c0 and c2. 

 
c0 = _____, c2 = _____ 
 
 
 
 
 

b. Suppose the duty cycle is 20%. Find c0 and c5. 
 
c0 = _____, c5 = _____ 
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[See 4.46 in the lecture notes.]

See the last sentence on p. 59 of the
lecture notes.

See recipe 4.44 on p. 56 of
the lecture notes

5

11 10

Prapun 5 5 5


